
NHTSA#: 15V-495 TC#: 2015-360

Job Code: 9902246 RC005 Inspect ONLY 0.5

RC013 Inspect and Repair 0.7

Relocate and Secure bracket when required. 

2015 24RLS F2JT5171 - 5186

2016 24RLS G2JT5051 - 5499

Drill driver with a #2 square drive bit

Flashlight

#8 screw  3/4" long                                                                                                                                                     

 INSTRUCTIONS

STEP ONE:  INSPECTION

1 Fully extend the slideout to gain access to the furnace.

Fig 1 - Furnace is located inside the entertainment center behind the louvered panel (arrow).

2 Fig 2 - Remove 4 screws (one in each corner) from the louvered panel.

Remove the panel from the entertainment center. 

Locate the area behind the gas line (indicated with the arrow).

3 Fig 3 - Inspect the area between the gas line and front of the ductwork at the base of the furnace.

 Remove the screw that attaches the bracket to the floor, then remove the bracket.  

4 Fig 4 - Remove only the lower duct from the furnace.

Grasp the duct close to the furnace and gently turn it counter-clockwise about 1/4 turn.

 Pull the ducting away from the furnace.

DO NOT DRILL A HOLE IN THE FURNACE OR ATTEMPT TO PUT A SCREW  through the upper hole of the bracket when the 

bracket  is NOT properly secured .

The bracket in Fig 3 is NOT in the correct 

location and requires the recall repair

If the bracket in this area has a single screw attaching the bracket to the floor as shown in Fig 3, AND the top hole of the bracket is void of a 

screw, the furnace is NOT properly secured and requires the recall repair

Shop Supplies / Tools

Recall Campaign

Action Required

Models / Serial Numbers

Inspect furnace for proper installation.

Launch Ultra Lite Travel 

Trailer

 PARTS KIT IS NOT REQUIRED

Fig 1 Fig 2 Fig 3 

Inspect for this bracket that does not have a 
screw attaching the bracket to the furnace 

Fig 4 Fig 5 Fig 6 

Pre-drilled hole in furnace 

15V495   2015-360 August 2015 1 of 2



5

Arrow in Fig 5 shows the bracket.  If the bracket is present, check to see if there are 2 screws in this bracket.

One screw should attach the bracket to the wood base, the other screw goes into a pre-drilled hole in the furnace.

If this bracket is installed as shown in Fig 6,  skip down to Step 7.

If there is no bracket in this location, or if there is only a  single screw in the bracket continue to Step 6.

6 If the bracket shown (in Fig 5 & 6) is NOT there; Install the bracket (removed in Step 3) at the location shown in Fig 5 & 6. 

The bracket MUST  be attached with TWO  screws as shown in Fig 6.

The screws are #8 x 3/4" sheet metal screws 

One screw is installed in the single hole on the bracket and into the wood base.

A pre-drilled hole in the furnace can be found where this bracket will be located.

Secure the bracket to the furnace by installing a screw through the top hole in the bracket and then into this pre-drilled hole.

DO NOT DRILL ANY HOLES IN THE FURNACE.

7 When the bracket is properly attached in the correct location with 2 screws, re-attach the ducting to the furnace.

Place the ducting back on the furnace port, and gently  turn it clockwise 1/4 turn.

Check the ducting to make sure it is not kinked anywhere.

8 Replace the louvered cover (with the louvers pointing down) on the front of the cabinet.

Re-install the 4 screws that hold it in place.

Fig 5 & 6 - With the ducting removed from the lower port on the furnace,  check to see if there is a secured bracket in the lower back 

corner.

15V495   2015-360 August 2015 2 of 2


